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Passage:

A i Ry e T B ugHR U M UR & IE Ifd Iar a1 fadwed! 1 9 FHifvie-

Tg HRA BT Yafed ARG GREPR 31 I8 REPR T Farsit S Fan, i, g, ardafe Ja1 3k Qe & o ferar S 1 S9e) I YRd & e agufa ot ofs werg
ERT 2 SFad, 1954 & $1 TS 2R UgA 98 REBR FHad sifad Ffad &Y 3T S &7 urayr o1l fag af 1955 & 3O UxNed e 4d Afaaal &1 33 3 91d gt TR 1 URA X
REHR TH T § s i Gl o & fGan o Iohar §1 39 REBR & d6d U I U SR Hed a1 STdr 81 39 ded fhut o e &t =g iy et < Sirelt 1 9raf b 31—
3% B Fd 48 R Y € T8 URRA I T b1 o IobT ¥ YR X 26 ST BT HRA & PR gRT 7 1l ¥ T Ugal REPR UG Aqeh IqRER dehexd
fen am oT) 99 ¥ o fafkie ST B SroR-oro &7 B Iptedl UM & oY I8 GRGR U faar ma g1 San uref gRT 9 RWBR & 1977 § ¥ o fan mar ot fahg 1980 #
B W 7 39 R F GaRT L= a1 1980 F GERT L= 81 TR 38 YAUYH TeR X1 A I 351 ATl AR Ydyd Ieeuf, denes Sf. T 0. 9. /egd dad & ot 1997 &
T Uffdd ISR foan man| S9! s ffad way™ T8l § 5 YURd I Faa YR AR B € fean S| U8 REBR WS Y J YR TRIRG §9 T T Tiar
SRy, forg 1 Hax ST & H F S €, Y a1 T & 3 SHHRY - W SgeTRPR [ $I 1987 H IR Aed H3al &1 1990 H 78 R&bR foan mar| gg off sifard
Tt & o5 YR I GRIH WAy 30 S| IRUNRIT duud ATaeeigr TRet ®1 HRd Id I I fpar T o7l 8t Ggure S < ISig T B IRUIRIG HRd Id 4 B Ui
P T Yo S Arred § A ff Ry & Fdfe ARe G YR I8 3 YHIAT 1954 F g3 | U URA I BT TH S S guR APUR ST, GdUeel ANGUE B 1954 F
uerH fomar o1

Q.No: 1 . 3
570531250 [ T8 fawedt & & Sudea et 3 ey fr < 1w Sl

A YR ¥ REPR

B SR g R@OR
C Tl R

D 3T fayuor PR

Correct Ans : A
Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

e R Ry U Y # ugeR I MU TR & GEd IR IR I fadmed! BT 9o Bifere-

g HRA BT Fared ARG REPR 31 I8 PR AP Ja1eft o8 sl e, fI7H, wdefe da1 ik @ & e faan S 81 S9! R WRd & dapTei Igafa ot Ieis wma
gRT 2 SFas, 1954 H1 $1 TS Rl U5 I8 REBR FHad sifad Ffad $I iU S &7 gray™ o1l fag af 1955 & 3u e Fves 5d Afaadl &1 33 3 a1 gt T8 1 URd X
REHR TH 99 § 3ifas i il & & i3 o Iobdr §1 39 REGR & ded U I U R Hed fear rdr 31 39 ded bt 2 e &t -vre iy et < Sirelt 1 or9 b 21—
Ry o oo 48 T @I &) I8 YRR § TG fBAT 1 gHT B1 HRA @ 26 TaRI $1 URT F APUR GRT A1 STl 31 T U5l IR URIg 91 IeRIeR ddew &
T T 11 99 ¥ oe fafkie S Bl S-S & H IaptedT UM & T 98 IR WA b T §1 ST Ui gRT 39 QREBR &1 1977 H F¢ &R fan mar ot fhg 1980 B
FHHE W 7 39 R I GaRT L= a1 1980 F GERT T 8 W 3U YAUYH TeR X1 A I 351 ATl g9R Ydyd Ireeuf, aene Sf. T i, 9. /egd dar & ot 1997 &
T8 yfaf¥d WREsR fear w11 39 13 [ uray 21 § & WRd To7 bad HRAG TR &1 € fear S| 98 [RER WHas U I HRAT TS 5 gbt Ty e
oy, o &1 TR X & T J T 7, B 7301 T I g IURATT - W SHGeNTHRPR WH 1 1987 H 3R o H3dl B! 1990 H T8 RIHR faan mar| g +f sifard
Tt & o5 YR I GRIH Ufaay 33 S| IRUIRIT GduH ATaeeigr IRl &1 HRd Id I AT fhar T o7l 8t Gaure S < ISl e B IRUIRIG HRd Id 3 B Uit
P 7 U S e H A §f R & Faf TR G HRA I@ BT YHIAT 1954 T G5 | U8 HRA @ BT THH I S guR APUR ST, Fauee ANGUE B 1954 H
UerH fasar a1

Q.No: 2 I TR & AR, Rad RIF 3T g Bifore-
2705312S1

W SfeGERTHRFR W Bl T 3R e T3 B B URT I REHR g mar A
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A 1997, 1998
B 1987, 1990
Cc 1977, 1979
D 1985, 1989
Correct Ans : B

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

e i Ry e T B ugwR g M U F T IRd IaR a1 w1 9T Fifvie-

Tg HRA 1 ded AFRS GREPR F1 I REPR T Farsit S Fan, Wi, 7, Adaiie Ja1 3k @a & o feran S 1 $9e) R YRd & e agufe ot s g
BRI 2 S99, 1954 F @I TS ff| Ugd I8 PR Had Shfad e B! G 99 1 wrae o7l fbg af 1955 & 309 IRy FRep Jd Al &1 ot <3 B 91d Siel 78| YR I
REBR T I8 N HfAdhan i safeadl &) & faar o Tohdl 81 39 [REBR $ d8d Th I U= R Asd 3o ordr ¥1 39 dgd feedt Ht are &t g IRy 2T <t el | 3 b <w1-
faem 3 o 48 3R P &) I8 HRRA § TG a1 S g1 &1 HRA X9 26 SHES BI HRA & AP GRT 3T ST 31 T U5 [EOR TR 31 deReR Idbexdd 3
foan ar A1) 99 ¥ o fafkre ST HY SroR-oro & B Icptedl UM & foTY I8 TRRGR U faar e §1 S uref gRT 39 REBR & 1977 H ¥ & f&an mr ot g 1980 #
PR WHR 7 T8 R A IaRT L= 511 1980 T GERT L= 81 TR TV YAUYH TR X1 = I 351 AT AR Ydyd Ieeufa, deie Sf. T 0. 9. /sgd dam & +ft 1997 &
T gff¥d [RIPR foan man| 50T i [fed way™ T8l § % YRd I $ad URAT AR B € a0 S| U8 REBR WHIES T J YR TRIRG 59 T T Tiar
Sy, T 59 AeX X F /1 | S §, B o W & SR SRR - | SHegaTRRR WH $Y 1987 H $IR A H3W H1 1990 H I8 RGR faar mar 7g +f sifart
Tt ® b YRA I IR Ufday far S| IRUNRIT GduYH dTaeeigr et ® HRd Id I G fbar T oT| ot YU S < ISiia T Bl IRUNIRIG HIRd I 4 B ufshar
F e Yo S Arred § A ff RISY & Fafed ARe G YR I@ 3 I 1954 F g5 | U8 HRA I BT THH S & guR AP ST, FdUeel MG Bl 1954 F
UG fobar T

370831252 ST TN & TR, I DU P T H-

A TRUNRT GdUYH ATISEIgR ARAl ST HRA ¥d | I fHar I ATl

B AN & AT RS T YR IA’ B AT 1954 I g5l

C Tg Sfard @ 7% WRa ve1 wwr wiead far smeam)

D YR Id REPR TP 4 A iftrpan i cafdal 1 € foar o1 a1 81 39 [RPR & d8d e I UF 3R Asd fur s 21

Correct Ans : C

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

A A Ry e T B ugHR U M UR & 9E9 3T Iar 9 fadwedl &1 9 FHifvTe-

Tg HRA BT afed AFRS GREPR 31 I8 REPR T Farsit S wan, i, g, ardafie Ja1 3k Qe & forg ferar S 31 S9e) I YRd & e agufe ot ois werg
ERT 2 SFad, 1954 & $1 TS 2R UgA 98 REBR FHad sfad Tl &Y 3T S &7 uray o1l fag af 1955 & 3a GxNeH e gd Afaaal &1 f 23 3 91d it T8 1 URd X
REHR TH T § 3ifad i Ffeml o & f3an o Ioha1 §1 39 REBR & ded U I U SR Hed a1 STdm 81 39 ded fhut 2 e &1 =g iy et < Sirelt 1 9ra b 31—
3% B Fd 48 R Y € T8 URRA I T b1 o IobT ¥ YR X 26 ST B HRA & PR gRT &1 1l ¥ T Ugal TREPR URIg A7 IqRER debexd i
fen am oT) 99 ¥ o fafkie ST B SroR-ooH &7 B Iptedl UM & oY I8 TRRGR U faar g1 San uref gRT 9 RWBR & 1977 H ¥ o fan mr ot fahg 1980 H
PR WHR 7 39 R A GaRT L= a1 1980 T GERT L= 8 TR 3T YAUYH HeR X1 A I 3521 ATl AR Hdyd Ieeufa, dene Sf. T 0. 9. /egd dad & ot 1997 &
T Uffdd IR fear man| S9! SIS fafad way™ T8l 8 5 YRd I Faa YR AR B € fean S| U8 REBR WHEaS T J YR TRIRG §9 6T T Tiar
oy, g g9 TeR X F 919 A TG 7, B 31 T o SIURAT - W SHGeTHRPR WH &1 1987 | 3R e H3am &1 1990 H T8 REHR oz mar| g o srfyard
Tt & foF YR I GRIH WAy 3T S| IRUNRIT duH ATaeeigr TRel ®1 HRd Id I AT foar T o7l 8t Heaure S = ISiig Tiel B IRUIRIG HIRd I 3 B ufghar
P T Yo S Arred § A ff Ry & Fdfe ARe G YR Y@ 31 YHIAT 1954 F g3 | U8 URA @ BT IH I S guR APUR ST, FdUeel ANGUE B 1954 F
TerH famar a1

Q.No: 4 " B
570531253 T H W G Fialed 30T -9 &7

A aa
B 3BT
C @rfeR

D fawg

Correct Ans : B
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Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

=T T H UGHR Y T YR & TG99 I Iak et el BT 9T PifvTe-

B9 PR & 4ad 8 ¢
T F YH TH B Yd
3fAd B I & Uewd
TN T, 3G & T4 ;
U H 3iaf-oraf F ofR,
i U, Id & B,
T 8 o H e, ud H 9,
7 & am ,u9s & @ |
= Sfer, artedt # 7fd,
T 3, TH P T,
BH 3UAH IRl B g,
e F w3 & am;
T3 97,3fd & UiRE 4,
et 3 & foRe faae |
I Tefe, ST @1, 98d U,
S BT Hod 1 HgH !
-4, FIod BR,

&1 81 [SaRR a1ed,

e el & IR T8I,
Ay & ISd BIOER |
TP FAGHY T apR
TER HERHY fa9 Wi,
@l g3 RUTUR,

PIHARY YTYH AT |

Q.No: 5 = § & Suded tfeaat & @i B AW SaE-

270538550

A Iy g feaw
B ARG Tgadt
C HeTadt qaf

D gftae ua

Correct Ans : D

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

=T T H UGHR Y T YA & Ta9 I Iak e Al &1 9T FifvTe-

T IR & Ya9d 819 §
A F YH TH B gd
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e %A IW & Ueerd ,
TR T, 3G & g9 ;
Y # s@f-3a H 3R,

Ifee U, 1ed & e,
T8 o H o, § o,
& a9 ,urdd & @ !
o S, arreit & T,
Tad $Ed, TWH & TH,
BH 3(Ucieh AR B g,
S & fom, 2wl & 9,
Ta 9,3fd & UiRa 9,
I eHd & foRa faae |
G Bt HedAT TEH |

& 8 faR o,

T I & IR TEIGY,
Ay & ISd BIONER |
TP FHDHY HH qMbR
FeR TeHY fay e,
Tl G- RUIIR,

PTHRY YTYH 3HR |

Q:No: 6 e & ¥ Brya § SH-a1 9 27

270538551
A g8 9H N

B HHYRT T
c foy wa

D S HTT A

Correct Ans : C
Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

e ST B UgHR IR MY URAl & GaY 3T IaR a1 fawedt 1 9o Bifore-

BH R & ¥ad g ¢
AP YH ,TH BT Y,
S B W P Uewd
TR T, 3G & g9 ;
Y H s@f-3a H 3R,
Ifere U, 1d & e,
BH 8 ol | o, el | o,
& v ,uds & @ !
m afer, armsit & 7ifa,
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Tad 3Ed, TWH & TH,

BH 3UTP IRl B dal,
e & few, IR & I,
g 9,3fa & UiRE 9,
Ifera sHd & fora faar |
G Bt He-T 7gH |
YH-Y3iR ,PIee BN,

&1 8 fei w1ed,

T I & IR TEIGY,
A & ISd BIOTER |
THS FHDHY HH qfbR
FeR ueHY fay Wi,
@ AV RUTUR,

PTHRY Y-TYH 3HR |

Q.No: 7 et dfeal 8 vged v wed o ond e H S g

270538552
A Tpl, wphel
B 91, yaied|
C I, AT
D EEAGIGIC]]

Correct Ans : B

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Passage:

=T T H UGHR Y T YA & Ta9 Sd IaR el [l BT T HifvTe-

B9 PR & 49d 89 ?
A F YH ,TH B gd
3T B I & gewd
N T, TG & T4 ;

T H saf-oaf F ofR,
i U, Id & B,
B9 8 o H e, ud H 9,
7 & o\ ,u9s & qa |
= Sfer, armedt # Tfd,
ToId 3, TH P T,
BH 3UTH IRl B dgl,
e F w3 & I,
g 9,3 & Uiga o9,
ferar sa & foRa faarm |
S BT Hod HgH !
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-4, HIod PR,
&1 8l [9aRR 91ed,

T IS & IR T8GR,
T & ISd BIONER |
THS FHSHY HA aefiebR
FER TeeHY fay Wi,
W 9g-V SEUTWR,

PTHRY Y-TRYH 3HR |

Q.No: 8 e & X R wrea-g 1 Wi Swia sk § R

2705385S3

A 3afy-araf
B fau-faw

o -G

D HeT-HeA

Correct Ans : A

Subject : Gen. Hindi (Hindi Lang PM 4 Question

Q.No: 9 In the following sentence, some parts of the sentence have been bracketed. Below are given alternatives to the bracketed part, which may improve
2700469 the sentence. Choose the correct alternative. In case no improvement is needed, choose the option ‘No improvement'.

Much water (are wasted) by the people.
has wasted
were wasted

is wasted

o 60 w >

No improvement
Correct Ans : C

Subject : Gen. English (English Lang 2)

Q.No: 10 In the following question, some parts of the sentence have been bracketed. You need to identify which of the given options can both grammatically
2700572 g contextually replace the bracketed part. In case the bracketed part is correct, ‘No improvement’ as your answer.

We warned the country's main labour federation to cancel its rally (for defiance of) a ban on large public gatherings.
A for defiance off
B in defiance of
C No improvement
D for defiance with
Correct Ans : B

Subject : Gen. English (English Lang 2)

Q.No: 11  Select the most appropriate option to substitute the bracketed segment in the given sentence.
2717842

We strongly (believed) that good stories can change our lives positively.

A believes

B believing

C believe

D to believed

Correct Ans : C

Subject : Gen. English (English Lang 2)
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Q.No: 12 Select the word, which means the same as the given group of words.
2717877
A person who abstains from marriage

A Curator
B Auxiliary
C Celibate
D Armistice

Correct Ans : C

Subject : Gen. English (English Lang 2)

Q.No: 13 In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best
2720550 expresses the same sentence in Passive/Active voice.

You are disturbing me.
A I have been disturbed by you.
B I am being disturbed by you.
Cc I get disturbed by you.
D I am getting disturbed by you.
Correct Ans : B

Subject : Gen. English (English Lang 2)

Q.No: 14 Read the statements given below and answer the question that follows.
2701252
Assertion (A): Salt is used as a preservative in pickle, chutney, sauce and canned food. Salt is rubbed on fish which helps to preserve it.

Reason (R): Due to the presence of salt in the food, osmosis takes place. As a result, water comes out of the food. When there is no or less water
in the food, the microorganisms are not able to grow and the food becomes safe.

e U U U Y ufen iR faw T wa & IR vl
SRUBYT (A): THS BT IUANT 3[R, T, T 3R fSsareiq HioH & uRRerd & T H a1 911 81 HSell W T8 7S ST 8 S 39 Qigrd W@ & Heg &l 2

BRUT (R): HISH § THS B TR F HRUI IRIERU il 81 Baeyd HivH § § ur Revd Srm 21
S e § Ol TS ST © 41 B Bl B, ol Gerid fIeRid T8l 81 Urd € 3R 4o TRI&d gl S 1

Both A and R are correct. R is correct explanation of A.

A
A 3R R 3 98 §1 R, A F W e &1
Both A and R are correct but R is not correct explanation of A.
B
A 3R R ST w8 € AfT R, A 9t U6t =mren 7 31
Only A is correct.
C
Fad A FE I
Only R is correct.
D

Fad R TE 81
Correct Ans : A
Subject : SCIENCE

Q.No: 15 Which of the following is a small hand tool used for removing the colored part of citrus peels in thin strips?
2701261
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Fg F oae & T I gaeh ufgdl & Fees & g Fo 5 3 39 91 8 8 swma a1 9 a1 sl Sud 82

Sieve screen

A
Tt BpiA
Zester
B
R
Grater
Cc
e
Channel knife
D

ERCE I
Correct Ans : B

Subject : SCIENCE

Q.No: 16 What is the meaning of word *‘menu’?

2701295
Ty Weg BT 7 o B2
Detailed list
A
forqa w=ft
Minute details
B
e faavor
Time to deliver
C
ERkakin
Available foods
D

Iuas] @Te uerd
Correct Ans : B
Subject : SCIENCE

Q.No: 17 Which of the following is estimated in the Waist-to-hip ratio?

2705015
PR A Beg b U # g A | 5Tt SigAr e e 22
The fat distribution in the whole body
A
T IR F g4 faawor
The proportion of fat stored in the waist
B

HUR B AT 9T T ST

The proportion of fat stored on the waist and hip
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HUR 3R Fed W AT Tl BT FuTd

The proportion of fat stored on hip

Heg TR STHT I HT U

Correct Ans : C
Subject : SCIENCE

Q.No: 18 Read the statements given below and answer the questions that follow.
2705022
Assertion (A): A Study predicted that increasing number of adolescents are patients of malnutrition.

Reason (R): A press release of the Ministry of Health and Family Welfare, Government of India reveals that in 2022 that most of malnutrition
cases are due to faulty food habits.

= fou T Syt @) ufe ik R few T Ut & IR dfiw
T (A): U 3feqa 3 Higwarol & € b feeiRY & st Sem pawo & A
PHRUT (A): YRT IWHR S WY 3R TRAR HedT0) FAag S Th U9 7 I Ut Iadr 2 6 2022 # ifAiwT $Uiver & A SIoyu) HisH Bt el & HRU 3

Both A and R are correct. R is correct explanation of A.

A
A 3R R 3 98 §1 R, A F W e &1
Both A and R are correct. R is not correct explanation of A.
B
A 3R R 3 W€t 1 R, A 9 O e T8 1
Only A is correct.
Cc
Fad A FE I
Only R is correct.
D

Fad R TE 81
Correct Ans : B
Subject : SCIENCE

Q.No: 19  Which of the following is the correct name of eating disorder in which subject has a habit of recurrent binge eating with avoiding weight gain?
2705026

Fafofad § ¥ oH-a1 3 f5gaiiel o1 T8t W § R safaq o1 a9 d¢1 | 91 & Y IR-IR 3P TH B 3Med gl 872

Obesity
A
werar
Overweight
B
i Io
Anorexia Nervosa
C
CRfRa Tt
Bulimia Nervosa
D

gfeferar wafen

Correct Ans : D
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Subject : SCIENCE

Q.No: 20 Which of the following food nutrient should be added separately to vegetarian food as per guidelines issued by ICMR (Indian Council of Medical
2705038 Research)?

ICMR (33 SR 3ifts Afsewa frad) gRT R fexn-Fe= & SFuR Fafifed & & $H-91 T UIvd dd ABTERT HIvH § e ¥ SieT ST a1igu?

Vitamins
A
faerfm
Protein
B
EICE]
Fats
C
ELl
Carbohydrates
D
FraleTEST

Correct Ans : B
Subject : SCIENCE

Q.No: 21 Which of the following habit does not add to the food related diseases?

2705040
9 7 9 BH- sed @H F el sl 7§ 787 Ssd 82
Skipping meals
A
HISH SIS
Irregular meals
B
sfrafia Wie
Snacking
C
AT
Sharing meals
D

WIS TS AT
Correct Ans : D

Subject : SCIENCE

Q.No: 22 Which of the following does not influence the eating habits of young girls in India?
2705043

fofafad & ¥ $F 91 YR  gaT1 defal B @ B sgdl B THIRaeT BRar 82

Physiological needs

IRHE Td
B Body image/jpg
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TR A BfY
Peers

c
Tt
Culture

D
wepfa

Correct Ans : D
Subject : SCIENCE

Q.No: 23 Which of the following term is used to denote a food preservation technique using high temperature and air sealed containers?
2705069

Frafifed & @ SIH-T1 Tee I AITHN 3R a1g Aieise emR] BT STUNT B WTE GV debrileh b1 G b o TaNT fopam Sirelm 82

Smoking

A
YHUT (Smoking)
Lyophilization

B
feraiftremgei= (Lyophilization)
Dehydration

Cc
frefefteror (Dehydration)
Canning

D
i (Canning)

Correct Ans : D

Subject : SCIENCE

Q.No: 24 What is the name of process of treating and handling food in such a way as to stop or greatly slow down food spoilage while maintaining its
2705074 ytritional value, texture and flavor?

IoH & G0 g, S1aE 3R @I B S 3@ gU HISH &1 TRIE 89 I AP A1 9gd 6 v & g HivH 31 Tuifid o= 3R JUTE Bt uihar &1 7 & 32

Food processing

A

T YRIhRT

Food preservation
B

T TR

Food storage
c

el HSRU

Food distribution
D

o faeror

Correct Ans : B
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Subject : SCIENCE

Q.No: 25 How many cells are found in one milliliters of blood?

2705076
e fireht oftex <o et BRIy urg S &2
8-10 million
A
8-10 faferas
4-6 million
B
4-6 faferas
10-12 million
C
10-12 faferas
2-4 million
D
2-4 faferaa

Correct Ans : B
Subject : SCIENCE

Q.No: 26 Where can we find the Calcaneus bone in the human body?

2705092
ad TR § Heb-9 B! Hel UIS Wl 82
Foot
A
®
Skull
B
st
Rib cage
C
T fifeR
Pelvis
D
ufeaw

Correct Ans : A
Subject : SCIENCE

Q.No: 27 Which of the following is not a basic process in ‘taxonomy’?
2710314

ot # 9 eH-@ ‘Tifeor 3 9a uiea 76 82

Characterization

fawar

B Identification
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ugaH

Classification

c
Fffeeor
Evolution
D
fawra

Correct Ans : D
Subject : SCIENCE

Q.No: 28 Which of the following is incorrect about the cellular respiration?

2710331
FIR@R 487 F IR & Foffed & § SH @ 7o 82
It takes place inside cells.
A
Tg PIRTE1S F e e B
Enzymes are involved in it.
B
SO GeTeH Wit B €
Energy is released in this process.
C
59 Ui § Seif gaa gt 21
It takes place in higher animals only.
D

g I Uiy # € gt 1
Correct Ans : D
Subject : SCIENCE

Q.No: 29 Which of the following term is used for organs with different functions but similar origin?

2710332
e & 3 BF O Tee It Frf ara s Iue ga e ot & o v faar S 82
Homologous organs

A
T 3T
Analogous organs

B
ST 3T
Heterogenous organs

C
o af
Similar organs

D

AT 30T
Correct Ans : B

Subject : SCIENCE
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Q.No: 30 Which of the following process is known as transcription?
2710349

fFafafea & @ foa ufsa &1 ufaee & S0 § ST S 82

The process of duplication of DNA

A
SITT & glevra ot ufeear
The process by which a cell makes an RNA copy of a piece of DNA.
B
qg Ufthar R §RT TH HIRTBT SITAT & TP gHa B 3RTAY Ui T 21
The process of protein synthesis
Cc
IS Hxaiwor o wfesar
The process of determination of complete nucleotide sequence.
D

quf gfFeaierss sgwd & fFufvor 35t ufesan

Correct Ans : B

Subject : SCIENCE

Q.No: 31 From where Prothrombin is secreted in blood?

2710378
T H Wi el @ wiad S © ?
Liver
A
gpd
White Blood Cells
B
44 Y7 PIRIPTY
Blood Platelets
C
=TS Weded
Heart
D
&g

Correct Ans : A
Subject : SCIENCE

Q.No: 32 Which of the following is covered by Myelin Sheath?

2710382
o & 3 S aeier <y gRT R T 2
Spinal cord

A
He @1 7t

B Liver

GET IT ON

Google Play
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forr
Tissues
Cc
Hddh
Heart
D
T

Correct Ans : A
Subject : SCIENCE

Q.No: 33 Which of the following statement is incorrect about the plant resources available in India?

2711099
YRA & IJudsy UIey TEieHT & IR H Fafifed § I S 91 w5 Tad 22
India is home to abundant plant and animal life and has a wide range of climates.
A
YR TR AT A dielf 3R SHaR] & siaq &1 1R ? iR 3ud Seary @Y Ue favga gaen 21
The arid Indus Plain, the Gangetic Plain, the Himalayas, Assam Valley, the Malabar Coast, the peninsular plateau, and the Andaman
and Nicobar Islands are the main regions of vegetation.
B
s Riy &1 AeM, T &1 AgM, FuTem, SRy 91dt, UTaNR d9e, ThEiY UeR 3R SieuM R Feler g aqg a9wfa & qer a7 §1
In the arid areas that adjoin Pakistan, the eastern part of the Indus Plain, most plant life has thick density.
C
Riy & feq & gdf umT, wiewam & 9 3 a3 §, iftrei=r wief $1 siias w1 99« B
India has an estimated 45,000 species of plants, 33 percent of which are native.
D

YR # Gl Bt g 45,000 wenfoat §, R @ 33 ufawra a=ft €1
Correct Ans : C

Subject : SCIENCE

Q.No: 34 Iron makes what percentage of earth’s crust?

2711116
et gedt Bt quEt (crust) &7 BT wfaRid 4T 82
10%
A
10%
29%
B
29%
30%
C
30%
45%
D
45%

Correct Ans : D
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Subject : SCIENCE

Q.No: 35
2711124

Muscovite and lepidolite are varieties of which of the following minerals?

TEpIaTEe IR Afteiarse fafafed & @ frw e o fes §2

Mica

Her

Aluminum

TegHitg

Lime stone

AT TR

Platinum

Wi

Correct Ans : A
Subject : SCIENCE

Q.No: 36
2711129

Read the statements given below and answer the question that follows.
Assertion (A) - Soil temperatures resulting from the sun’s radiation change with the time of day.
Reason (R)- The temperature a soil attains depends on how much heat reaches the soil surface.

Which of the following is correct option?

Y few T Tl Y ufgu o few T st & I vt

Sy (U) - g & fafomor & Sad gt &1 aomE T & w5y & 91y aeadn ol

PR (R)- g} R AI0AM d Tgach § 98 39 919 W AR oxar & o it o 5o W et i gt 31
e § 3 oF @ 98 s 32

Both A and R are correct. R is the correct explanation of A.

T 3R 3R T |t €1 R, A B € =rEn B

Both A and R are correct. R is not the correct explanation of A.

T 3R 3R ST | €1 R, A B €t e T 71

Only A is correct.

Pad A T8 21

Only R is correct

%ad R I8 21

Correct Ans : A

Subject : SCIENCE

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap

Adda Eq 7 GET IT ON

Google Play

Q.No: 37 Which of the following is not a factor that influence the amount of nitrate movement to groundwater or surface waters?
2711132

e 7 ¥ P T $RS T & N YSId a1 T b U1 H A8 SHaId Bt HET Bl I Har 82

Nitrates dissolved in the soil solution

A
firdt & aa & ga see
Run off of nitrates in soils
B
it & Arsge ®1 srware
Soil Strength
C
firdt ot arwa
Soil permeability
D

el URIdn
Correct Ans : C
Subject : SCIENCE

Q.No: 38 Read the statements given below and answer the question that follows.
2711135
Assertion (A): Modern fishing technologies using mechanized trawlers and small meshed nets lead directly to overexploitation

Reason (R): The worst hit are the small traditional fishermen who are no match for organized trawlers.

12 T T S Y ufe iR fT T usi & IR ifvtu
a1 (T): HRAFIPd TTeR 3R B SIGR STal 1 SUANT FRA ala MY A3 Ubs & db-ie WY Sifaded &1 3R & It 8
PR (R) : TIA ST YHIIT BIE TRURS AGR € RiTehT Tfod it F BIS Yebraen el

Both A and R are correct. R is the correct explanation of A.

T 3R 3R 41 9 1 R, A Bt TS e g1

Both A and R are correct. R is not the correct explanation of A.

U 3R 3R i1 9l 81 R, A F 9 srEn =1 1

Only A is correct.

»ad A T8 21

Only R is correct.

Fad R e 21
Correct Ans : A

Subject : SCIENCE

Q.No: 39 Which of the following methods is used for the separation of gases from Air?
2711535

Fofafad # @ fryg fafy o1 SuaiT arg | 77 Y 8rerT B & g fokar Siar 82

A Filtration
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fredea

Fractional distillation

SRF SRIad

Chromatography

PTG

Diffusion

TR
Correct Ans : B

Subject : SCIENCE

Q.No: 40 The carbonate ores are changed into oxides by heating strongly in limited air. This process is known as-

2711556
Frae st B Wit arg § e & w a sfares 3 oRaRia R o 21 9 i w0 § 9 o 3
Roasting

A
Yo (Roasting)
Calcination

B
fAaru= (Calcination)
Electrolysis

C
faggauae (Electrolysis)
Refining

D

T (Refining)
Correct Ans : B
Subject : SCIENCE

Q.No: 41  Which of the following is not an element?

2711558

fFrofafed ¥ § S9-w da 7 ¥2

Oxygen
A

SfeRfte

Carbon
B

BT

Water
C

Tt

D Hydrogen
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HECIEE

Correct Ans : C
Subject : SCIENCE

Q.No: 42 Which one of the following methods is not used to prevent iron from rusting?

2711566
I 1 S v & g & fore Pafafed o 9 e fafy o1 ST 6 fsar i &2
Painting
A
IEECan
Galvanisation
B
(s
Cleaning
c
TS
Chrome plating
D

e 1 Ft wa
Correct Ans : C

Subject : SCIENCE

Q.No: 43 The compounds formed in this manner by the transfer of electrons from a metal to a non-metal are known as

2711573
ST b WFIRY A 37 YbR 5 dral Qi HTg § SfuTq deb D &
Ionic compound
A
e dife
Metallic compound
B
yIfa® Affe
Non Metallic compound
C
iR uifQa® @ftre
Compound
D
Rysyor

Correct Ans : A

Subject : SCIENCE

Q.No: 44 Which of the following is a mixture?
2711580

Fafefad # @ S-91 fyyo 82

A Water
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Salt

Air

Sugar

Eicil
Correct Ans : C

Subject : SCIENCE

Q.No: 45 Which acid is found in lemon juice?

2711602
A9 P T W HH-T7 3 U7 ST 82
Hydrochloric acid
A
LESESIILRNER)
Sulfuric acid
B
e Ths
Citric acid
C
wrsied TRrs
Nitric acid
D
Efew efrs

Correct Ans : C
Subject : SCIENCE

Q.No: 46 Which gas is usually liberated when an acid reacts with a metal?

2711633
UTq b Y ST BT SATHHAT PR R UG HH-T 19 Febardt § ?
Chlorine
A
FARA
Oxygen
B
STRITe
Hydrogen
c
FES o

D Nitrogen
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RIETAEE]

Correct Ans : C
Subject : SCIENCE

Q.No: 47 Which calendar is used by most countries in the world today?
2711654

3 3y & iz A7 fbg Holex o1 IUUNT B &2

Julian calendar

A
S FsR
Gregorian calendar
B
I Fas
Islamic calendar
Cc
Frarh AR
Chinese calendar
D

9+ Fdsw
Correct Ans : B

Subject : SCIENCE

Q.No: 48 Which instrument is used to measure the volume of a liquid?
2711685

et 5a &1 sma HIom & forg e 4 1 i fban e 872

Thermometer
A

yATHteR

Barometer
B

FRifter

Pipette
C

fade

Stopwatch
D

ryarg

Correct Ans : C

Subject : SCIENCE

Q.No: 49 What is the formula for the volume of a cube?
2711687

T % 3T BT G 1 8?2
A V=1lxw
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F=1xw

V=1l=xwxh

V=l=xwxh

V=sxgxs

V=gxsxs

V=(4/3)ar

V=(4/3)nr
Correct Ans : C

Subject : SCIENCE

Q.No: 50 What is the boiling point of water in Fahrenheit?

2711697
U T BRAGISE § HUi® e i 87
32F
A
32F
100 F
B
100 F
212 F
C
212 F
-273.15F
D
-273.15F

Correct Ans : C
Subject : SCIENCE

Q.No: 51 1 nanometer is equal to-

2711705

1 TR SRR ?

10%°m
A

108 #Ht

106 m
B

10-5HT

10-°m
C

10-°HT

D 104 m
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10+ HT

Correct Ans : A
Subject : SCIENCE

Q.No: 52 Who proposed the word ‘graphite’?
2711869

YPTge’ g BT UiquTe forae fmam ur?

A G Werner and Harsten

A
T oft TR 3R g
Antonine Lavoisier
B
i AasRrR
Carl Wilhelm
C
e faw
Humphry Davy
D

Tupl 34t

Correct Ans : A
Subject : SCIENCE

Q.No: 53  Which of the following options gives the bond angle in atoms of diamond?
2711878

fofafed & 9 o1 o1 fowe $R & wRATsl & 3= 07 I 372

110°
A

110°

109°
B

109°

120°
C

120°

135°
D

135°

Correct Ans : B

Subject : SCIENCE

Q.No: 54 What is the term used for an allotrope of carbon consisting of a single layer of atoms arranged in a hexagonal lattice nanostructure?
2711886
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TR AT ARgaRR § Hafyd WRHNYSH B U Rd I AAHR e F 3ifded & U e Wsg 37 872

Graphite
A

ELgEs

Graphene
B

PILdc)

Diamond
Cc

R

Fullerene
D

B

Correct Ans : B

Subject : SCIENCE

Q.No: 55 What is the importance of functional groups in organic compounds?

2711916

FIeE QBT H BriEd JHEI Bl 1 Hed 87

These are the groups that decide the physical properties of compounds.
A

¥ T § o AT & R o ) A B

These are the groups that take part in the chemical reactions.
B

3 3wy § o At sifufdranelt # wmr aa §)

These are the groups that gives odor to organic compounds.
C

3 3 w9 § S P AT Bt Y W F

These are the groups that is required for nomenclature of the compounds.
D

T 3 ug ¥ < At & e F R smawas g1
Correct Ans : B
Subject : SCIENCE

Q.No: 56 Which of the following term is used for the chemical substances that participate in a chemical reaction?

2711930
gt sfiforar B omT AR aret e uendf & fore fefafad & 9 e g @1 wanT fsar S 82
Reducers

A
TSR
Reactants

B
yfafsmarsita
Products
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3dIlq
By products

IATE FRT
Correct Ans : B
Subject : SCIENCE

Q.No: 57 A plane mirror forms an image/jpg that is:

2712147
U AT U0 U B ST & o B
always smaller than the object
A
T avg & Der gl ¥
always bigger than the object
B
TR A% | T9T T @
always of the same size as the object
C
UM TG & T PR FT
sometimes bigger and sometimes smaller than the object
D

F1ft avg ¥ 7 ok T Bler
Correct Ans : C

Subject : SCIENCE

Q.No: 58 When an object is placed beyond the center of curvature of a concave mirror, the image/jpg formed is-
2712153

9 fordf} avg I Sfaqd qUU & aehal hg Y WX @ Il §, f 9 drelt B 8-

Real and inverted

A
IRATIF SR IeeT
Virtual and erect
B
TR 3R e
Real and erect
c
IRl SR e
Real and erect
D

MU 3R 3T
Correct Ans : A

Subject : SCIENCE

Q.No: 59 A concave mirror of focal length 20 cm forms an image/jpg at a distance of 30 cm from the mirror. What is the magnification produced by the
2712156 mjrror?
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20 I BBy gt BT TH Saqd Uu F40 ¥ 30 I F g R T Wi TG ¥1 SU0 gRT IO Saed 1 g 82

-0.5
A

-0.5

-1.5
B

-1.5

0.5
C

0.5

1.5
D

1.5

Correct Ans : A

Subject : SCIENCE

Q.No: 60 Which of the following surfaces will produce diffused reflection?

2712183
Fofafed ¥ 3 SH-1 wdg fuia wad 3o 3
Smooth and polished surface
A
freit offe uifersr wag
A mirror
B
gy
A cardboard
C
RIS
A glass window
D

w9 B! Qs
Correct Ans : C
Subject : SCIENCE

Q.No: 61 What is the name of the muscle that controls the shape of the lens in the eye?

2712188
g B A % MBR o Frifd B areh wiash o1 oar 7 82
Ciliary

A
faferarst
Pupil

B
gaet
Iris
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3msia

Cornea

Pif-ar
Correct Ans : A
Subject : SCIENCE

Q.No: 62 Which of the following part of human eye is controls the amount of light entering the eye?
2712190

g 3ifg &1 FEfiad & & SIF-91 YFT 3t & Ta% B aTd UT B TR Bl i & 2

Iris
A
gfvaeT
Cornea
B
Pt
Pupil
C
ot
Retina
D
X

Correct Ans : C

Subject : SCIENCE

Q.No: 63 The loudness or softness of a sound is basically determined by its-
2712195

@i B Teed a1 Hgal qa ®U 9 Fufia g &-

Frequency
A

amqf

Amplitude
B

ST

Vibration
C

Eare)

Wavelength
D

¥ gk

Correct Ans : B

Subject : SCIENCE

Q.No: 64 Attraction and repulsion between charged particles are examples of-
2712755
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AR BN & der SATBNT AR YU b IR B-

non-contact force

A
R-Tud qa
contact force
B
Tud g
either contact or non-contact force
C
a1 4t ¥ud a1 R Hqud a9
neither both forces
D

eI
Correct Ans : A

Subject : SCIENCE

Q.No: 65 Which one of the following is the correct relationship between G and g?

2712769

Fefifad # @ PH-T1 G 3R g & fFa TE ey 82

g = GMR
A

g = GMR

g = GM/R
B

g = GM/R

g=GMR?
C

g=GMR?

g = GR/M
D

g = GR/M

Correct Ans : C
Subject : SCIENCE

Q.No: 66 Atmospheric pressure is the pressure exerted by -

2712777
IGHST <a1d fras FRT ST T &9 § -
Solid
A
B
Gasses in air
B

g g A
c Liquid
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GRS

Atmosphere

qgHsd
Correct Ans : D
Subject : SCIENCE

Q.No: 67 Which of these cannot be changed by the force acting on an object?
2712778

forelt g TR O A T4 BN T ¥ 59 LT Saa o wobdl 67

Mass
A
SOHT
Shape
B
STPR
Direction of motion
C
Tfa @t fa=m
State of rest
D

fayma ot st
Correct Ans : A

Subject : SCIENCE

Q.No: 68 An object moving along a straight line with a constant speed. Then this motion is called -
2712785

o RR i & 1y T et Y@ & et g¢ 9%q| 99 T8 i Heem € -

Non-uniform

A
S AT i
Uniform
B
|AE T
Either Uniform or Non uniform
C
1 & FEE A1 R srEE
None of the above
D

et wfer
Correct Ans : B

Subject : SCIENCE

Q.No: 69 An object exerts a force F on a surface area A.The pressure P on the surface will be equal to-
2712792
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TH I TS g &F A TR UH 9 F T ¢ G W T aTal Ga1d P SRR giTl-

P=F/A
A

P=F/A

P=FA
B

P=FA

P=A/F
C

P=A/F

P=F/A®
D

P=F/A®

Correct Ans : A

Subject : SCIENCE

Q.No: 70 What is the weight of a column of air contained in a unit area from mean sea level to the top of the atmosphere called?
2712823

Md T 7 & IS & A dF T 31 & H FAfRd ga1 & U WY & IS Y 1 Hel Sl 82

Atmospheric pressure

A
qrgHsHT g
Osmotic pressure
B
TR g
Hydrostatic pressure
Cc
Zaafa® a
Differential pressure
D

3R a1
Correct Ans : A
Subject : SCIENCE

Q.No: 71  Which one of the following is the SI Unit of temperature?

2713941
fofafed & & SH-91 TUHE 3 SI TS 72
Kelvin
A
Ffea
Celcius
B
AfRmw

C Farenheit
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BRATIES

Reaumer

for
Correct Ans : A
Subject : SCIENCE

Q.No: 72 The temperature at which a liquid starts boiling at the atmospheric pressure is known as -
2713942

FORY Ao TR argHS iy aTe | I 5d T A €, I BE € -

Melting point
A

e fig

Boiling point
B

YIS fig

Freezing point
C

fewis fig

Condensation
D

werqur

Correct Ans : B

Subject : SCIENCE

Q.No: 73 Which of the following is not used for the measurement of temperature?
2713945

FefifEad § ¥ frger Iuah aa[E & Ao & forg et fhan s 872

Thermistor
A

yffeR

Geyser
B

e

Pyrometer
C

SAYATIS G

Thermometer
D

qrgaTdt

Correct Ans : B

Subject : SCIENCE

Q.No: 74 Which of the following relation is correct for celcius and farenheit?
2713984
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e # @ BiH-91 Jdy AT 3R BRAEEe $ w98 87

C=5/9 (F-32)

A
C=5/9 (F-32)
F=5/9C-32

B
F=5/9C-32
F=5/9C+ 32

C
F=5/9C+ 32
C=5/9 (F + 32)

D

C=5/9 (F + 32)
Correct Ans : A
Subject : SCIENCE

Q.No: 75 A wooden chair and a metal chair are kept in the sun for a long time. If we are asked to sit on one of these, we will sit on a wooden chair because
2713988 \o0d -

TF dHhe! B Ff 3R & g Ft Hf ) TS T 7 g A 7@ 9 21 AfE 7 30 9§ 5 U R 957 & AU FE1 I @ 59 awel 3 Il R 937 R awel -

It is a bad conductor of heat

A
g &1 B FATASD &
It is absorb more heat
B
Tg e o HiEdt @
It is a good conductor of heat
C
g ST FI IS} 9D e 7
None of the given options
D

fow e fywedl & & #1S TE
Correct Ans : A
Subject : SCIENCE

Q.No: 76 The solar system moves around the sun in fixed elongated paths. They are called-
2713992

IR Hed T & IR iR A i uelf & qar &1 3% Fe1 o -

Orbit
A

gy

Class
B

DET

C Period
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3rafy

Elliptical

& queR
Correct Ans : A
Subject : SCIENCE

Q.No: 77 One Jupiter day is equal to which one of the following?

2714030

TF e faw Fufifed & ¥ fras s g 82

7 hours 34 mins
A

74c 34

9 hours 56 mins
B

9He 56 fir

5 hours 10 mins
Cc

5°c10fy

3 hours 20 mins
D

39220
Correct Ans : B

Subject : SCIENCE

Q.No: 78 Which of the following is an example of potential energy?

2714062
fFrofafed ¥ & o9-w fRufes e &1 I &2
A moving car
A
TS el PR
A running faucet
B
U dre] 7
A stretched rubber band
C
U BT gor IR 98
A falling coconut
D

firar gem ivaa
Correct Ans : C

Subject : SCIENCE

Q.No: 79  Which type of energy is produced by the splitting of atoms?
2714068
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AT & ged A bg UbR BT ol S gt 87

Thermal energy

A
g et
Electrical energy
B
fagga St
Nuclear energy
(o
TRHTY] Felf
Chemical energy
D

IS FHet
Correct Ans : C
Subject : SCIENCE

Q.No: 80 1 kWh is equal to which of the following?

2714095
1 kwh frfifad # § f5ad R B 2
3.6 x 106 Joule
A
3.6 x 106 S[A
3.9 x 105 Joule
B
3.9 x 105 @
3.6 x 104 Joule
C
3.6 x 104 5@
3.9 x 104 Joule
D

3.9 x 104 [d
Correct Ans : A

Subject : SCIENCE

Q.No: 81 Which one of the following can neither be created nor be destroyed?
2714103

fFafifea & @ S 9 O a9/ 51 gl § iR T 8 Y fhar S gebdr 82

Force
A

GIEE

Energy
B

St

Cc Power

GET IT ON

Google Play
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Work

Cap
Correct Ans : B

Subject : SCIENCE

Q.No: 82 What is the dimensional formulae of work ?

2714105

B o fafig AT ?

MLOT?
A

MLOT?

MPLT?
B

MCLT?

MLAT-2
C

MI T2

MLT-2
D

MLT-2

Correct Ans : C

Subject : SCIENCE

Q.No: 83 Which one of the following energy transformations takes place in a battery powered flashlight?

2714139
dedt e ofd & Fafofed & § SH-3 i &1 FuiaR g 22
Chemical to light

A
T & frg It
Electrical to light

B
fagga @ vor
Thermal to light

C
o & e yda
Nuclear to light

D

U & T R
Correct Ans : A

Subject : SCIENCE

Q.No: 84 What is the material of the filament used in a traditional incandescent bulb?
2714161
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URURS T ded H Tgad fhamie &t gl 3 82

Copper
A
tar
Tungsten
B
R
Aluminum
C
SregHifras
Iron
D
et

Correct Ans : B

Subject : SCIENCE

Q.No: 85 Why are coils of electric toasters and electric irons made of an alloy rather than a pure metal?

2714180
faegd dRex quT faegd Tt #1 pocht Mg A 7 o1 St & Y U1 b Soa?
They do not oxidise readily at high temperature.
A
} I AUHF TR T A SiTRfipd 7€ A
They have low resistance.
B
I ufRiY $H B
They have high thermal expansion.
Cc
I U I a1 R B
None of the given options
D

fw e fasedl § @ H1g T
Correct Ans : A

Subject : SCIENCE

Q.No: 86 How is an ammeter connected in an electric circuit?

2714185
fagga uRay & srfier 39 o1 &1 22
Series

A
CICKl
Parallel

B
JHMAIGR

C Either series or parallel
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T q YT a1 FHFTR

None of the given options

fou v fawedl & @ #1768
Correct Ans : A
Subject : SCIENCE

Q.No: 87 In an electric motor, the direction of current in the coil changes once in each :

2714232
TP faggd Ak #, Foait # 4RT F 320 udF H UH IR geod 7
Two rotations
A
& o
One rotation
B
@ i
Half rotation
C
3yt i
One-fourth rotation
D

T g yo

Correct Ans : C

Subject : SCIENCE

Q.No: 88 Which of the following device is used to control and protect the electric panel and other devices from overflowing of electrical power?
2714238

Fufafed # 9 SH-91 IuSHRY faggd I SR 3 IUSR0N 1 faggd wfd & sifavars ¥ Fafid iR Tiga w7 & e 3wz fear s 32

Miniature closed breaker

A

Y FE AP

Miniature circuit breaker
B

fafiTeR wfbe sox

Minimum current blocker
c

A YRT AN US

Minimum circuit blocker
D

AW Tfbe s
Correct Ans : B

Subject : SCIENCE

Q.No: 89 Which of the following is the unit of magnetic induction?
2714248
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g 8 A B9 Yaobiy IR B 3BT 82

Weber

I

Tesla

Henry

Ohm

e

Correct Ans : B
Subject : SCIENCE

Q.No: 90 What are the two ends of a compass needle called?

2714250
feogme &1 g5 & e RR &1 Feamd 82
North and East
A
IW AR @
East and West
B
TR 3% Ul
North and South
C
IR R gfRor
Positive and negative
D

TPRTHAS 3R THRIAD
Correct Ans : C

Subject : SCIENCE

Q.No: 91 Electrons are flowing from A to B in a conductor, what is the direction of the current?

2714253
TF % | 3A9 A I B BT 3R Yaed 81 W T, YR BT 3= 7@ gl 2
Bto A
A
BIA
AtoB
B
A¥B

Cc Parallel to AB
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AB & qUIGR

Perpendicular to AB

AB & fQ diaaq
Correct Ans : A
Subject : SCIENCE

Q.No: 92 At the time of short circuit, the current in the circuit -

2714260
Y Uy & T aRuy & 4RI-
Reduce substantially
A
PO 58 TF FH T I §
Does not change
B
8 Tewd 2
Increases heavily
C
4 g e @
Vary continuously
D

AR FEed ¥l 8

Correct Ans : C

Subject : SCIENCE

Q.No: 93 The magnetic field inside a long straight solenoid-carrying current-

2714261
Tt ofell et aRAerepT & ieR URTaTE! Yoty &=
Is zero

A
AR
Decreases as we move towards its end

B
-9 g9 SUP 3id FI 3R 9¢d &, gedT SdT @
Increase as we move towards its end

C
FA-I TH TS 3T B IR Ted 7, IN-I9 Tgd g
Is the same at all points

D

Tt fargeii W @A §
Correct Ans : D

Subject : SCIENCE

Q.No: 94 A freely suspended magnet always align in which direction?
2714278
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TP Wi FU Y ACHl gl 99 gHen foby famm & WRied g &2

North-South

A
IR-GRor
East-West
B
d-ufw
South-North
Cc
-3
South-West
D
aféror-ufim

Correct Ans : A
Subject : SCIENCE

Q.No: 95 The shape of a rain drop is spherical due to

2719526
9uf & §&1 BT MBR et = gl 82
Viscosity

A
YT

Surface tension

B
gitg T
Elasticity
C
g
Gravitation
D

=

Correct Ans : B

Subject : SCIENCE

Q.No: 96 Chemical formula of washing soda is

2719532
IR TST BT IS G TS ?
Na;S0y. 10H:0O
A
Na;S0y. 10H:0
NaHCO;
B
NaHCO;

C Na;C0Os. 10H:0
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NEI.__*. CD}. 1 OH;.D
Ca(OH);

Ca(OH),

Correct Ans : C

Subject : SCIENCE

Q.No: 97 The Stomata in the aquatic plants is

2719535

et el B Xy W [

Not Found
A

8 U

Found & available on both the surfaces
B

Y g W SUTRE B ¥

Found & available on upper surface only
C

Faa SUT HAE W & SURRA A &

Found and available only on lower surface
D

Fad fAreel Tag W IufRE g &
Correct Ans : C
Subject : SCIENCE

Q.No: 98 The birth of the first child will be a fatal situation in which of the following conditions?

2719537

<ufd & g o T Q YuH RIY B S B TeRl 81 Febell 82

Male Rh+ & Female Rh-
A

R Rh+ 9 HIql Rh-

Male Rh- & Female Rh+
B

R Rh- 9 H1qT Rh+

Male Rh- & Female Rh-
C

"R Rh- 9 HIql Rh-

All of the given options
D

fow g @t fawe
Correct Ans : A
Subject : SCIENCE

Q.No: 99 X is an animal that feeds on shell animals by popping out its stomach through its mouth to eat the soft animal inside the shell. X is a
2720257
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X Ueh U1 SR & S Gl & e ARA SR B @M & T 07 Hg § 31ue1 Ue 16 FiebTet X Tiet e} Bl @Ial 8, X T & -

Sea Urchin
A
ast o
Starfish
B
®R few
Feather stars
Cc
e werd
Turtle
D
8T

Correct Ans : B

Subject : SCIENCE

Q.No: 100 Which of the following represents the correct matching set?

2720264

ListI (Type of waste) | List IT (approximate time taken to degenerate)
[A) Paper (I)10to 15 years
(B) Wood (IT) 100 to 300 years
(C) Tin (IIT) Sewveral years
(D) Plastic Bag (IV) 10 to 30 days

frofafed & @ s-a1 9 gafea wgg <xifar 82
AT I (3raferee o1 79R) | 7 10 (@1 gt # w9rt aren

HTATIT FHE)

(A) FETH Mi10H15ad
(B) STaT (IT) 100 3 500 @
(C) Tet (1% aF
(D) TATREC R T ST IV) 103 30 &=

A-1V, B-I, C-II, D-III

A
A-1V, B-I, C-II, D-III
A-1V, B-II, C-I, D-III
B
A-1V, B-II, C-I, D-III
A-II, B-I, C-III, D-IV
C
A-II, B-I, C-II1, D-IV
A-1, B-1IV, C-III, D-I
D

A-I, B-1V, C-III, D-I
Correct Ans : A

Subject : SCIENCE

Q.No: 101 The property of metals by which it can be drawn into thin wires is called
2720265
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TqaT 1 a8 0 foRT gRT 59 Wik ude arR & yRafdd fear S gevan €, dear &

Malleability
A
3maTaast a4 (Malleability)
Conductibility
B
Uyofiadt (Conductibility)
Ductility
C
o=gdT (Ductility)
Lustre
D
gfd (Lustre)

Correct Ans : C

Subject : SCIENCE

Q.No: 102 Which part of the body is mainly involved in the absorption of water from the digested food?

2720303
T2 gU e § A Ut & Sra=iver % forw TR 1 BIH-91 8 g = U § Ifaiferd g 82
Liver
A
gPpd
Large intestine
B
TSt o
Anus
Cc
et
Pancreases
D
STAR™

Correct Ans : B

Subject : SCIENCE

Q.No: 103 In the part of Seed, the cotyledon is needed for what purpose?

2720322
o & YT § §S9A (cotyledon) &t ATl [T Y & e g 82
Softens the seed coat
A
SR B RH FRAT §
Necessary for photosynthesis
B

YT Y0 P T 3Maxg® giar &

C Growth of the seed
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9w & fara & forg

Need for pollination

RITY F} ARGl & forg
Correct Ans : C
Subject : SCIENCE

Q.No: 104 is the part of leaf by which leaf is attached to the stem.
2720328

=R BT 95 U § e wem § ool a3 § 92 8t B

Lamina
A

et

Petiole
B

quig

Reticulate
C

STt

Midri
D

THERRT

Correct Ans : B

Subject : SCIENCE

Q.No: 105 Arrange the following lengths in their increasing magnitude:
2720331

A. 1 Metre

B. 1 Centimetre

C. 1 Kilometre

D. 1 Millimetre

frafifed ders &1 375 Jgd R # Fafyd FiT
A. 1 iR

B. 1 IR

C. 1 e

D. 1 forefiefier

D<B<A<C

D<B<A<C

B<C<A<D

B<C<A<D

C C<A<B<D
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C<A<B<D

C<B< A<D

C<B< A<D
Correct Ans : A
Subject : SCIENCE

Q.No: 106 Match List I with List II:

2720332
List I List IT
(Mode of reproduction) (Organism)
A Vegetative Propagation | 1. Fems
B. Budding 2. Bryophylhun
C. Fragmentation 3. Yeast
D. Spore Fonmation 4. Algae
T 1 P g 11 9 goferd S
| Gl
@EFA TR | &
A, I [ yadd | 1. quiime
B, gPT 2, Ao
C. WUSTYa-/E0s | 3. U
D. §iey weT | 4. Tame

A-1, B-3, C-4, D-2

A
A-1, B-3, C-4, D-2
A-3, B-2, C-1, D-4
B
A-3, B-2, C-1, D-4
A-2, B-3, C-4, D-1
C
A-2, B-3, C-4, D-1
A-4, B-1, C-3, D-2
D

A-4, B-1, C-3, D-2
Correct Ans : C

Subject : SCIENCE

Q.No: 107 Jute fibre is obtained from the stem of the jute plant. Which of the following conditions/situations are optimum for obtaining jute fibre?
2720351

T PTIMIE & WY F T F U Sl 31 S WISeR W 3 F forg Fafafed # & o ot Rufear/ofRufwdt srgga 82

It is cultivated during the rainy season

it & diww & suet @t H ordt @

Jute plant is normally harvested when it is at flowering stage

YT ¥ N B ATHER W T9 Bl ST @ e Tg T Saey1 § gar @

C Stems of the harvested plants are immersed in water for a few days
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I T N & 71 B $o oAt & g ot & g oman @

All of the given option

fou T 9t fapew
Correct Ans : D
Subject : SCIENCE

Q.No: 108 The place where organisms live is called habitat. The plants and animals which live in water are known by which of the following?
2720354

I8 M W51 g I §, SHTaN R HEardl ¢ od § g4 arel gref 3R Sigaft &l e & 9 s gR1 ST e 82

Terrestrial Habitats

A
e S
Aquatic Habitats
B
STl e
Grassland Habitats
C
Y AT
Desert Habitats
D

IR T

Correct Ans : B

Subject : SCIENCE

Q.No: 109 LEDs have become extremely common in present times as they are energy efficient and last longer. LED stands for:
2720377

LED THM 97Y # 98¢ 9T §1 7T & Fife § Soll-a&f §1d § IR A9 §HA a% dod & | LED BT guf &Y &1 57

Light Emission Digitally

A
Light Emission Digitally
Low Energy Dongle
B
Low Energy Dongle
Light Emitting Diode
[
Light Emitting Diode
Least Energy-emitting Device
D

Least Energy-emitting Device
Correct Ans : C

Subject : SCIENCE

Q.No: 110 The upper chambers of heart are called:
2720385
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U & HUR Bl Bl bl ol @

Ventricles

e

Atria

sifdig/ufvarg

Aorta

Tt

Vena cava

TRIRRT

Correct Ans : B
Subject : SCIENCE

Q.No: 111 A woman covered a distance of 1000 km in 10 hours in a car. How much distance will be covered on a bicycle in 20 hours if she rides the bicycle at
2720388 pe-tenth the speed of the car?

% AR TP BR gRT 1000 et 3t gt 10 9 & 7 Fxell 71 T 98 Wfhet 3 SR 3 1 3 tp-cudl fd § Femdt B, O 98 20 9 & URfha ¥ o gt @@
Hf?

100 km

100 ft
200 km

200 et
300 km

300 fot

400 km

400 ot
Correct Ans : B
Subject : SCIENCE

Q.No: 112 Sound waves cannot be heard in space. This happens because:

2720421
Sfafer & @ aGH B TE G N o B LW AR Ee § F
There are no devices to detect sound waves in space

A
Safker # w@f TN &1 war @ ¥ Y F1E SuwmRr T F
Speed of sound is more than speed of light

B

ety Bt wfd, v 3 1y & ifle S 8

C Sound requires a medium to travel
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a1 B 9 FIA & T TP AT B ra=ahar it 8

Sound travels faster than normal in vacuum

g1~ Y T B P 11T T AIeAH B TGP Bl &
Correct Ans : C
Subject : SCIENCE

Q.No: 113 Mr. Rohan was teaching his kids about cell division. He explained them about a particular type of cell division that results in the formation of four
2720435 daughter cells. This type of division is specially seen in reproductive cells to form gametes. Which type of cell division is this?

off e 3 faenffal & HRBT faH=H F IR F Ugl R A1 I S= Ud IR UHR F HIBT [FUH & IR & THgman e aRumRe=g IR Idfd &1 R 1
fmior 8T 31 39 UBR & fauIeH Ry &0 I 51 Siprei & gme s & R 381 91T 31 T8 {59 TR &1 SIS AU 72

Mitosis
A
TR favre=
Meiosis
B
SreRE faure
Binary fission
c
fe-wsa
Fragmentation
D

frgs/9st yaa
Correct Ans : B
Subject : SCIENCE

Q.No: 114 Which of the following is not a purpose of evaluation?

2720471
e & @ S1H-1 gedie &1 352 e 82
To encourage students to study under fear or pressure of scoring well, promotion to next class or rewards.
A
farenffaf #Y 33 | Wiefed ST U1 3 3iF a1 F AT 3ATelt Fam W USIAf U1 RIPR F 919 | Ugls I+ & Y Wiewried &A1
To provide relevant information about a learner's progress.
B
o fRiandf 1 wifa & g uRife SHeRY ueE BT
To assess teaching-learning practices and plan them in a more suitable way.
C
frgror-siftrm gyt @1 sifeeas w31 ok 3% oiftre Sugea adid § AR s
To provide feedback of their performance to students
D

faenfiat &Y 3% wa=i @t wfafrar werm s
Correct Ans : A
Subject : SCIENCE
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Q.No: 115 Which of the following factors need to be considered for organization of concepts and lesson planning?

2720473 I. Assuming all students would have the same level of pre-requisite knowledge of the subject and then building further on that knowledge.
II. Time available/required for the instruction of a particular topic/lesson
III. Resources and teaching aids available for instruction
YR IR UI6 A1 511 $ W16 & A Fufiafed & 9 57 $Re! R TR F 3t saxged 32
1. 98 A4 gU fr @it ot & U fawg & gd-onawass I &1 99 R § 9R R 39 I @ offt &) wHt g
11. o5t Foi ferwar/ars o Aid1 & o Sueist/ sa=ass G |
111, e & fore Iuctsy IOy iR e gere arh
I and II
A
IR 11
II and III
B
II 3R 111
Only III
Cc
Fad 111
Only II
D
Fad 11

Correct Ans : B
Subject : SCIENCE

Q.No: 116 A teacher gives the topic 'Refraction of Light' to the students and tells them to justify the various laws and principles by experimenting and
2720492 pserving the phenomenon through a prism. Which of the following methods of teaching Science is being adopted by the teacher?

T e Rl ) T $7 uad v AT ? iR S S & A § geT B UaNT SR 3raciich B ot At ok Rigidl B 98t sevm & o dear 81
o, Riers gR1 g vem 3 Fufifad & § oH-3 3fy sors o &t 82

Problem-solving method

A
ET-gATYT fafy
Laboratory method
B
warTRTar fafr
Lecture-cum-Demonstration method
c
TSI 7-W-ve fafy
Observation method
D

Saats fafy
Correct Ans : B
Subject : SCIENCE

Q.No: 117 Measurements and observations are part of which type of scientific investigative approach?
2720525
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AT 3IR 3(aeiieh b8 PR & IS S VP o7 i 82

Pattern seeking

A
te WP (Pattern seeking)
Investigating model

B
W9 W $4 (Investigating model)
Developing systems

C
feeraxfa yoreh (Developing systems)
Fair testing

D

froaer wieror (Fair testing)
Correct Ans : A
Subject : SCIENCE

Q.No: 118 1In which of the following forms of remedial teaching, a child with an identified learning disability is provided with specialized instruction?
2720535

fFafafad & ¥ P9 TR & STERIAS 310 H, T R e siemar arel fyemelf & fagw Adw uem farar e g2

Group tutorial teaching

A
Sl /g SrgfRigr sreaTas
Individualized Education Plan
B
Jufdre Qeafdre demn
Supervised tutorial teaching
C
FRiféra srgframr sreamaa
Support Programs
D

LHEGICUE
Correct Ans : B
Subject : SCIENCE

Q.No: 119 Which colour light that refracts most while passing through a prism?

2722580
oo ¥ ToRY THY f6g 11 BT Uy G e Suafdid g 82
Green
A
il
Yellow
B
e

Cc White
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i s

Violet
SR

Correct Ans : D
Subject : SCIENCE

Q.No: 120 In which year did American scientists invent the hydrogen bomb?

2722614

SR ST A 5 99 BIEgIoH §9 &1 IR faar ar?

1952
A

1952

1959
B

1959

1942
C

1942

1948
D

1948

Correct Ans : A

Subject : SCIENCE

Q.No: 121 The use of ball bearings between hubs and axles of ceiling fans and bicycles is an example of:

2722628
A S UW IR AEHA F 9 R TR S A9 die SART BT STAN SHDT TP SaT6R o
Sliding friction
A
wdf aefor
Rolling friction
B
e afor
Tension
C
GEICH
Drag
D
Fur

Correct Ans : B

Subject : SCIENCE

Q.No: 122 Which of the following is also known as "Black Gold"?
2722651
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Frofafed & 3 5 "ora 99 & T § off S S 82

Coal
A
Praar
Carbon
B
Eace
Petroleum
C
IgiRraH
Carbon and Coal
D

Pra 3R Hraar

Correct Ans : C

Subject : SCIENCE

Q.No: 123 Which of the following gas is used for artificial ripening of fruits?

2722668

wal B HHH F Y THH R Fafaied § F e 39 %1 Sud e S g

Acetylene
A

gffeedta

Chlorine
B

FAR

Bromine
Cc

S

Fluorine
D

LS ENE

Correct Ans : A
Subject : SCIENCE

Q.No: 124 Which of the following is the approximate pH value of human blood?

2722693
A T& BT ST pH 7 e & & ar 82
6.4

A
6.4
5.4

B
5.4
8.4
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8.4
7.4

7.4

Correct Ans : D
Subject : SCIENCE

Q.No: 125 Who out of the following discovered that when closely related elements are grouped in a set of three, the atomic weight of the middle element was
2722706 3imost the arithmetical mean of the other two elements in that group?

Frofafed & 3 e urn 9 e 3 S6fia aal & 9 & Tag § 31 9 7, O 09 Od B RA YR 39 THE & 3 & dwl BT I SIS e gl 37

J W Dobereiner

A
S S&g SRR
Antoine Lavoisier
B
I AEsRER
John Dalton
C
S STee
William Odling
D

faftram sivsfer
Correct Ans : A

Subject : SCIENCE

Q.No: 126 Which of the following elements is the most abundant in the earth’s crust?
2722728

frofafad & 9 o1F o1 aa gt 3 o1a H 69 TR T 82

Oxygen
A

Sifqter

Silicon
B

fufereia

Nitrogen
c

BLCEE

Carbon
D

Eack

Correct Ans : A
Subject : SCIENCE

Q.No: 127 Why is carbon dioxide is used in fire-extinguishers?
2722737
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ST G & A T FTe SIS HT IUINT i fasar i 82

Because it is colder in temperature than oxygen

A
i gg iferfiorT Bt gom & arow § $81 8
Because it reacts with oxygen to give a non-combustible product
B
TP T8 T IR-ggT=id Sare 37 & g SifRfieq & Iy ufafrar sar @
Because it is heavier than oxygen
C
HifF g sifrfleq § Wit §
Because it is lighter than oxygen
D

Fiifr a5 Sifriier J ger 8
Correct Ans : C

Subject : SCIENCE

Q.No: 128 Which of the following elements is placed above Hydrogen in the electrochemical series?

2722744
fggd Imfe fue & Fufkifed § 3 $H 91 9d SRSeH & W T T 82
Copper
A
PR
Mercury
B
URT
Gold
o
Gisll
Iron
D
et

Correct Ans : D
Subject : SCIENCE

Q.No: 129 1,4-dichlorobenzene can be used for -

2722748
1,4-SEFARISONT ¥ fo 3T fban o b © -
artificial sweetening of foods.
A
@1y verdf @ v e
keeping away moths and fabric pests.
B

Fle IR FUS F Pl B @ @

food-preservatives.
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WTE-R&TS

energy-drink.

ol g
Correct Ans : B
Subject : SCIENCE

Q.No: 130 Isopropyl alcohol can be used as -

2722749
STV SfehIed BT SUAN 9 WHR 51 off Fahall @ -
fuel for cars.

A
BRI P e a1
hand-sanitizers.

B
T FWDER (5 HerEeR)
fuel for cooking.

Cc
T UHH & forg $eq1
health-drink.

D
@y 19|

Correct Ans : B

Subject : SCIENCE

Q.No: 131 Which of the following can be used as antiperspirant?

2722751
Frafafed 3 feae Suam gfiRaes & U # foar o1 9 o2
Aluminum chlorohydrate
A
Tegfifran Wk
Sodium hypochlorite
B
HIfSTw FRUIRINTEE
Diethyltoluamide
c
STAURAIGATES
Calcium carbonate
D

Pfexraw sEe

Correct Ans : A

Subject : SCIENCE

Q.No: 132 Which of the following is neutral oxide?
2722754
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fefafad & ¥ oF do ifass 72
NO2

NOz

N204

N20s

NO

NO

NaOs

NaOs
Correct Ans : C

Subject : SCIENCE

Q.No: 133 Under the PFA act, when is the food said to be adulterated

2725701

PFA 3iffm & dgd, HioH & Ha arad! Her smem?

If any ingredient is injurious to health
A

e BIS Tch WA P e gifeR® @

If it is obtained from a diseased animal
B

e g et A oy @ v fban S @

If spices are sold without their essence
c

IR T 3T GRIg F 3 9 ¥

All of the given option
D

feg T @t e
Correct Ans : D

Subject : SCIENCE

Q.No: 134 A teacher can identify a stressed child when the child shows their following behavior -

2473739
TTaged T ) e e & A fhg g & ugEH Adl € -
Aggressive behavior
A
STHTHS HIGR
Concentration in studies
B

Ters # THRIdr

C Excessive taking
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Adda

Correct Ans

247

3rafes T HIAT

Hyperactivity

sfafrarfier

T A

Subject : Pedagogy

Q.No: 135
2476327

Correct Ans

More effective learning opportunities can be provided to students by

BHE! B i fpaia des ¥ SEwR Y RbU off 99d §

giving a detailed explanation of all topics

Tt frealt &1 e s &

using more teaching aids

3T g Werae AR BT START HIAT

conducting periodical tests

3Mafiie TeT N BT

basing the teaching on real-life situations

e @) areafae shaw @) fRufeal ww enurfya s
:D

Subject : Pedagogy

Q.No: 136
2477572

Poliomyelitis is also known as?

NfeamEesed o 39 *u F off S S 82

Infantile paralysis

fargy wgmaTa

Cardiological disorder

U iR

Neurological disorder

At dadt fier

haematological deficiency

SRR wddt st

Correct Ans : A

Subject : Pedagogy

Q.No: 137
2479252

Kohlberg's theory proposes how many levels of moral development?

GET IT ON

Google Play
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Hiae b1 Rigid Afde faer & b TR o1 Uwdld Har 82

3
A

3

6
B

6

9
C

9

12
D

12

Correct Ans : A

Subject : Pedagogy

Q.No: 138 According to Kohlberg, the child is guided by respect for laws and moral rules though he recognizes them as somewhat arbitrary and not always
2479294 \j3jid—or by abstract ethical principles such as justice and equality.

PIEAHT B AR, F= B! 3R e Fawt & g I FERIG g1 8, gdife 98 S8 $9 8¢ % AFAMT 3R AR A e WHaT 32
Stage 1 and Stage 2

A
TOT 1 3R TWOT 2
Stage 3 and Stage 4
B
T 3 3R WoT 4
Stage 4 and Stage 5
C
WU 4 R WU 5
Stage 5 and Stage 6
D

T 5 3R WU 6
Correct Ans : D

Subject : Pedagogy

Q.No: 139 Kohlberg’s theory is related to
2479302

GAREU R FARRSEIR A
Social Maturity
A
TR afvaedr
Conventional Maturity
B

uRuR® gRusar

C Cognitive Maturity
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TS uRuedr

Emotional Maturity

AICEIG G T E

Correct Ans : A

Subject : Pedagogy

Q.No: 140 Which of the following methods is based on the Progressive theory of education?

2479479
frofefed & @ o5 o fafy fRien & ymfasia Rigia w amuia 32
Rote learning method
A
Y aran siftnH fafy
Problem Solving method
B
FHE wHTyT fafy
Mechanistic method of learning
C
Hraa $t doraa fafy
Repetitive method of learning
D

e Y diewrg o aren fafy

Correct Ans : B

Subject : Pedagogy

Q.No: 141 According to Sri Aurobindo, which of the following is the first principle of true teaching?

2479543
ot RIS F AR, Fofifed & 3 a=h et $1 g Rigid HH &1 22
That nothing can be taught.
A
& po =3 Raman s awan
That ultimate education which we get in our schools
B
T8 WA e St g oA wpal | fhrerd @
That mind is to be consulted in its growth
c
T 3 3! gfS | Ge | W=t a1 T
the ultimate society and social affairs around us.
D

AR TRY 3R WA A 3R o ama |

Correct Ans : A

Subject : Pedagogy

Q.No: 142 According to Sri Aurobindo which among the following is not true regarding curriculum transaction in progressive education?
2479577
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ot SRS F SFER wrfo=ia R § Ulem=al Tamas & Tdy o Fofifed § 3 o 91 99 76 82

Curriculum should be in such a way which child find as interesting.

A
yreg=al Tt g1 AT o g YIRS T
It should include those entire subjects which promote the feeling to compete with each other.
B
¥ 3 vt fywal &Y wnfire far s TRy st ue gik & Ary gforgyf A @Y UIaHT B gerar &d 8
It should motivate children towards the attainment of knowledge of the whole world.
C
™ vl 31 9yl Iy & I 3 wifty F g URa v Tz
It should contain creativity of life and constructive capacities
D

TN e Ft TS AT 3R IS &HaTd g TRl
Correct Ans : B

Subject : Pedagogy

Q.No: 143 A four month old child is given a new toy and he puts it inside his mouth. Here the cognitive functioning of this child explained by Piaget as-
2480700

TF IR TN & 92 B T a7 FGdT forar 9ar § IR 98 S¥ Ug H O A1 71 I U R 39 9 &) IIMIETd Sriarg! $ fby $U H FHm m §-

Accommodation

A
frama
Assimilation
B
STHHATH IO
Equilibrium
c
Hge
Schemas
D
B

Correct Ans : B

Subject : Pedagogy

Q.No: 144 1Insulin is produced in the body's

2650134
SRF e PE RS Aga e
Cholecyst
A
o=
Pancreas
B
SR

C Thyroid
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gy

None of the given options

faw v fawet & @ w1
Correct Ans : B

Subject : Gen. Gnowledge &Current Affa.

Q.No: 145 world Music Day is observed globally on every year.
2650197
fay Gt feaw uferad 1 3y TR W 737 91 B
21 June
A
21 1
22 June
B
22 1
23 June
C
23 91
24 June
D
24 51

Correct Ans : A

Subject : Gen. Gnowledge &Current Affa.

Q.No: 146 Which one among the following is the cricket stadium in Indore?

2651636
Frofafed & 3 oF frde ®fson AR § fRa g2
Captain Roop Singh Stadium
A
g wu i RfdTm
Holkar Stadium
B
Freaw wfdaw
Sardar Stadium
c
TR RfEaw
Aishbagh Stadium
D

Aqram R

Correct Ans : B

Subject : Gen. Gnowledge &Current Affa.

Q.No: 147 Nepal shares a border with which other country besides India?
2652082
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Addal2417

AU HRA & 3(STaT b <=1 & T TH IAT A1 Bl 872

China
A
Cic
Bhutan
B
Yer
Bangladesh
C
e
Afghanistan
D

BT

Correct Ans : A

Subject : Gen. Gnowledge &Current Affa.

Q.No: 148 Express the following ratio in the simplest form.

2716881
2581 : 1270
U &I WAdd =9 T e B
2581 : 1270
2581 : 1270
A
2581 : 1270
1365 : 1876
B
1365 : 17876
5098 : 1976
o
5098 : 1976
3451 : 1432
D
3451 : 1432

Correct Ans : A

Subject : Gen. Reasoning (Numerical Abi.
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Q.No: 149 Raj walks 5 km East from point A. then turn right and walk 8 km, then turns left and walk 7 km again turn left and walk 8 km then turn right and
2726851 ik 5 km and reached at point B?

What is the direction of B with respect to A?

e foig A T I UR™Y IRl 8 98 5 o5t gd 3} 3R gaar @ f gt geae 8 et 9en fisr amé et oiR 7 foredt aaan @ foR ot geae 8 fopedt gerar @ o ard
TSR 5 foprlt = 3R fig B W = |

AP TUe J B P f= Fam?

West
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East

o

North East

IR g

North West

IR Uiy

Correct Ans : B

Subject : Gen. Reasoning (Numerical Abi.

Q.No: 150 Raj walks 5 km East from point A. then turn right and walk 8 km, turns left and walk 7 km again turn left and walk 8 km then turn right and walk 5
2726852 m and reached at point B ?

What is shortest distance between A and B ?

It fiig A | FeT TR el § 98 5 el gd @t 3R Tetan § R et o 8 et e bk a1 get ok 7 fopeht weran § R amt geav 8 fahedt I@an & bk ard
e 5 et 9e 3R fig B W ¥ |

A 3R B & T BT ATH g3 FaT?
18 km

18 ft

15 km

15 et

17 km

17 feit
20 km

20 et

Correct Ans : C

Subject : Gen. Reasoning (Numerical Abi.
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